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PART 4: G d Vocabul () Sl o3
: Grammar and Vocabulary A Healthy Lifestyle
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct (Get Ready, ...,
choice on your answer sheet. Grammar)
Y,Ju).)
131- I ... the screen of my laptop. It is impossible to use it, so I’m going to buy SV G F4 dou
a new one.
1) has broken 2) have broken 3) break 4) was breaking
132- One of my brothers completed his university education in 2010 and ... a business in the same
year.
1) have started 2) started 3) was starting 4) has started
133- Unfortunately, we cannot go to the party with you. Mike has not finished his homework ... .
1) ever 2) for 3) since 4) yet

134- Most of us think that going on a ... is the best way to stay healthy. But it’s important to know
that eating less is not the only thing we need to do to stay healthy.
1) exercise 2) jog 3) diet 4) pray
135- When my grandpa was in the hospital because of his heart attack, the doctors tried to show
him how to ... his blood pressure the right way.
1) contain 2) measure 3) increase 4) prevent
136- According to the company, their latest product has been the most important development
since the ... of the telephone.
1) condition 2) habit 3) invention 4) addiction

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Can sitting too much be harmful for your health? In 1994, scientists noticed something strange in a
study that compared drivers, who sit most of the day, and guards, who don’t. Though their diets
and lifestyles were a lot alike, drivers were about twice as likely to get heart disease. Living a
sedentary lifestyle increases the chance of gaining weight and getting heart disease. Humans are
built to stand upright, so your heart and other organs work more effectively that way. Too much
sitting can be bad for your mental health, too. We don’t fully understand the links between sitting
and mental health as well as we do the links between sitting and physical health, but we do know
that the risk of becoming depressed is higher in people that sit more.
137- What is the best title for the passage?
1) The Benefits of Sitting for Long Periods 2) How Sitting A Lot Can Help Your Health
3) The Negative Effects of Sitting Too Much 4) How to Prevent Depression by Sitting More
138- According to the passage, the scientists found that ... .
1) drivers were more likely to have heart disease
2) guards were more likely to have heart disease
3) both drivers and guards had similar risks of heart disease
4) there was no connection between sitting a lot and heart disease
139- We can understand from the passage that a sedentary lifestyle involves a lot of ... .
1) driving 2) sitting 3) eating 4) working
140- Why does sitting too much increase the risk of becoming depressed?
1) It causes our organs to work better.
2) It increases the chance of gaining weight.
3) It improves blood flow in the body.
4) The passage does not provide any explanations.
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PART C: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet.

141- Before we crossed the river, the boatman asked me, “... on a boat?”

1) Have ever you be 2) You have ever been
3) Have you ever been 4) You ever have be
142- Two years ago, Mary became my best friend and she has deeply influenced me ... then.
1) yet 2) since 3) ever 4) for
143- The increasing use of computers and mobile phones in recent times ... the way people live and
behave.
1) change 2) are changing 3) has changed 4) have changed
144- In this country, about 40 percent of people live in villages, which can decrease health ... .
1) lifestyles 2) risks 3) experiences 4) relationships

145- According to research, a/an ... and active brain can be one of the most important factors in
educational success.

1) negative 2) unsafe 3) depressed 4) healthy
146- 1 ... believe that my friends wanted the best for me, but their love almost destroyed my life.
1) strangely 2) interestingly 3) honestly 4) fluently

PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

William Shakespeare was a famous writer from England. He wrote many plays and poems that
people still read and watch today. He was born on April 23, in 1564 in a town called Stratford-
upon-Avon. His father was a glove-maker, and his mother was from a rich family. He had seven
brothers and sisters.

When he was 18, he married a woman named Anne Hathaway. They had three children:
Susanna, Hamnet, and Judith. Hamnet died when he was young. Shakespeare moved to London to
work as an actor and a writer. He joined a group of actors called The Lord Chamberlain’s Men.
They performed in theatres like The Globe and The Blackfriars. He wrote many kinds of plays,
such as comedies, tragedies, histories, and romances. Some of his famous plays are Romeo and
Juliet, Hamlet, Macbeth, and A Midsummer Night’s Dream.

Shakespeare became very rich and famous. He bought a big house in Stratford-upon-Avon and
visited his family often. He died in 1616, on his birthday. He was buried in the church where he was
baptized. He left behind many works. They are still admired and loved by people all over the world.

147- What was the name of the group of actors that Shakespeare joined in London?

1) The Anne Hathaway Company 2) The Stratford-upon-Avon Players

3) The Globe 4) The Lord Chamberlain’s Men
148- When did William Shakespeare pass away?

1) August 1660 2) April 1516 3) April 1616 4) August 1564
149- What did Shakespeare do besides writing plays and poems?

1) He was an actor. 2) He was a glove-maker.

3) He was a teacher. 4) He was a soldier.

150- The underlined word “They” in paragraph 3 refers to ... .
1) theatres 2) works 3) people 4) actors




